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OAEAUHIE E IHEASEAU M=H K&
70,000& = 160AICH » 23

OEsots 121X = At

600,000& * 10

ORE30ls g4t std =24l X&

80,000& = 200F = 23

ORF8 48248 € JHEAEAHU EAbI

A& 200,000& = 55AICH » 123
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= N W
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= M
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16,000
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=M 80 S Dt
HH: OIS=XEX

el HEES XE (9 ® =)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Al 9,600
307 2Izt0ol A 6,000 6,000 0
04 QIZFHALE X 6,000 6,000 0
OOS?I® BAM2 2 NY 2l N
10,000& » 508 » 128 6,000
goots ¥8+Y X 270,000 162,000 108,000
2 189,000
Al 81,000
301 LtE L= 270,000 162,000 108,000
= 189,000
Al 81,000
01 A3l EE E 56l 3 270,000 162,000 108,000
OYYOS YS+Y X
150,000& = 1508 » 128 270,000
= 189,000
Al 81,000
HOHOtE YyURES 9,212 18,424 9,212
2 6.448
Al 2,764
301 gt d= 9,212 18,424 A9,212
= 6,448
Al 2,764
01 A3l EE E 56l = 9,212 18,424 NQ,212
OZO Ols P& dRExZ ¥ 2A=H| 9,212
= 6,448
Al 2,764
CEABEAY 29 301,000 370,000 69,000
= 300,000
Al 1,000
CEAEEXE 301,000 370,000 A 69,000
= 300,000
Al 1,000
101 Q1 24| 79,310 74,280 5,030
2 79.310
4 D12t ZE2XREES 79,310 74,280 5,030
OHINE SUAEE DItasolat ol 2| 79,310
-JlE3 1,650,000& » 3% » 128 59,400
= 59,400
-MEEEZ 5,200
2 5,200
~Ex3 N
1,650,000& * 1/12 » 3% » 12¥ 4,950
= 4,950
A2+l =E
6,500& = 20AI2t = 3FH = 128 4,680
= 4,680
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AR GRS N S
3 ois=Asd

G SEHAEEAY 29 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
i Nsll 120,000& = 39 » 12& 4,320
= 4,320
- X< 760
= 760
201 et A | 102,940 181,970 AT79,030
= 101,940
Al 1,000
01 At 22l ] 33,530 100,670 NB67,140
OEHAEE AFY W =H|
170,000& * 5 «* 53| 4,250
= 4,250
OCEAGE D 2 222 M=
3,000& * 3,0000 * 23] 18,000
= 18,000
OEHAEE 39 &4 X2
100,000& * 5 «* 53| 2,500
= 2,500
OCHAEE ARESS L MAEH 225
el 5,000
= 5,000
Opltolsi4s Iay)
7,000& * 3 x 152 * 128 3,780
= 3,780
02 382 H| 3,600 4,800 A 1,200
OEEHAEEHNH 2322 300,000& = 12& 3,600
= 3,600
03 &AL H Y| 65,810 76,500 A 10,690
OEYAEIE SiAF 2EH| 64,810
= 64,810
OEEAEE HOIE 103 HE 1,000
202 044l 5,000 5,000 0
= 5,000
01 2L Y| 5,000 5,000 0
OEYAEE H2FX 4| 5,000
= 5,000
207 AT OH & h] 500 1,000 A 500
= 500
02 & AHJH Y| 500 1,000 A 500
OEHAEHE SgetoldA 2 500
= 500
301 dEtE A= 108,250 92,750 15,500
= 108,250
01 M EXE 4562 90,000 69,000 21,000
OEEAEE 2HY B =SXAEY 90,000
= 90,000
10 HALAHI 2 A2 18,250 23,750 A5,500
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g ots=Xsd
CHel: CEABEAY 29 (St &)
= _ — d =
SA - BB B () - MM - BES Ol &t o e HmEET
OCEHAEE 2R2us 44X EA43
5,000& * 2002 = 23] 2,000
= 2,000
OEEAEE IHESAH 4 2o 3
10,000& = 109 » 140 14,000
= 14,000
OSHAEE 23012 DREN P4
150,000& = 3¥ = 53l 2,250
= 2,250
405 TtobFH S| 5,000 5,000 0
= 5,000
01 AL EZFHSHI 5,000 5,000 0
OEEAHBEHdH AMRIINFL 5,000
= 5,000
=R SE 9,289,340 9,080,728 208,612
= 45,000
= 1,167,543
< 1,522,752
Al 6,554,045
ots=4 XA 3,747,508 3,818,960 AT1,452
= 1,167,543
< 1,522,752
Al 1,057,213
201 2et24d] 18,356 22,340 A 3,984
01 At 2teltl 18,356 22,340 A 3,984
OXgotsdH dRIHE ME == XA
896,000,000& * 1% 8,960
O0tS3A ALY M AHNE 2,000
OXYots4dE 0lE0ts ¢t MHHIA XA
400& = 870F * 128 4,176
OOSSAAAS HALY
70,0003 = 11H « 23| 1,540
OXY0tsdE 2H/ds slgaa-4
70,0003 = 128 « 23| 1,680
301 gt L= 3,729,152 3,796,620 AB7,468
=2 1,167,543
< 1,522,752
Al 1,038,857
01 MI2EZE 06z 3,729,152 3,796,620 AB7,468
O0lszAHl XA (gets) 1,503,532
& 622,641
< 193,132
Al 687,759
Oo0tsZAlHl N (XYGotsHE HE) 896,000
&2 544,902
Al 351,098
OotsZaHl XN (&5 EB5Y) 1,329,620
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SN
SAHRY (SHol: @)
= _ — d =
CHB - E(BH) - MM - B 0l &t o il Bl RE2
< 1,329,620
Orsotd o ALK& 362,872 368,648 NB,T76
2 45,000
Al 317,872
201 Let24E] 71,552 51,168 20,384
01 At 2t 2l 5,600 5,600 0
OO0t =XALY IS M= 2,000
O &ARL= OtsEAN 7L
1,200,000& = 30H A 3,600
02 =24l 59,352 43,768 15,584
OCCTV Jtiict &Il & HdZANE=
42,0003 * 88 + 12& 44,352
OCCTV = X224l (6000 2) 15,000
03 & Ar2 I 6,600 1,800 4,800
Ooglold & ots =M 2282 M
55,000& = 200H 1,100
ooy 2&& M 10,000& * 700K 700
O0s&8a e Ots - BRRu=
10,000& * 120¥ * 23] 2,400
OOsS=Z2XAIE AL A2NE AA(AMDS
SAHLF) 10,0002 = 120 * 23] 2,400
202 44l 2,800 3,500 A700
01 SLHOIYI 2,800 3,500 A700
O0ts=X HRF=& Ol 2,800
307 gl2tol & 59,500 51,500 8,000
04 QIZHHALE = 58,000 50,000 8,000
O0egol=2t ALK& 50,000
OZolAl HElol sRFE2I Hal 8,000
10 A2l S X2 X 1,500 1,500 0
OO0S=EXAIE HEelol=2t HAXA
500,000 » 30H A 1,500
308 MXIEHSOIH 64,020 62,480 1,540
06 WSII20UHet2x= 64,020 62,480 1,540
Oogol et MblAa X 64,020
-2 Il £Xdl 11,000& * 300¥ 3,300
-MNEZ 5,500 = 920Y = 123 60,720
401 A& HI L 20l 165,000 0 165,000
2 45,000
Al 120,000
01 A& HI 165,000 0 165,000
oots=2s+9 CCTV &X 165,000
= 45,000
Al 120,000
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2AM: d-80ts
Mo OlS=XEX
ool OIS AMSY EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
AL X 5,178,960 4,893,120 285,840
301 LBt A= 5,178,960 4,893,120 285,840
01 Al E & A 462 5,178,960 4,893,120 285,840
OAImotol& Ols ¥E4+% X
100,0008 = 3,884% = 12&€ 4,660,800
OAITHOF O] & OFOIANE A2 22l XI&
20,000 * 2,15909% » 12€ 518,160
OlsEXAId K& 4,205,355 3,866,632 338,723
= 985,846
= 554,285
& 480,090
Al 2,185,134
Ols=XAE 29 X3 2,186,444 2,041,444 145,000
= 554,285
= 73,759
Al 1,558,400
307 2Iz2t0| & 2,186,444 2,041,444 145,000
= 554,285
= 73,759
Al 1,558,400
10 Ml SR EX 2,186,444 2,041,444 145,000
OA&EOtE Alcelxzsd X
200,000€ = 409 = 12& 96,000
OOs=EXAIE 29 X 1,938,181
= 554,285
Al 1,383,896
OO0ls=S X AIE MEX = 244 XS 11,863
& 3,559
Al 8,304
OO =2 XAIE MEX FHEAH ¥ 23|
X & 2,600
& 1,300
Al 1,300
OOs=EXAIE SAMX =& 137,800
= 68,900
Al 68,900
Ols Al W & AL A& 3,500 3,100 400
301 et A= 3,500 3,100 400
10 HAFAHI B a2 3,500 3,100 400
OO0IsSXAIE SAILNE EAT B43
50,000 * 20¥ 1,000
OOtsSEXAIE A=At 50,000 = 50H 2,500
gE =8 AMUlA 1,929,125 1,738,999 190, 126
= 951,331
=} 385,623
Al 592,171
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10 AlRIS X2 X

OXgotsdH=2

,599,285 1,738,999 A139,714

,382,125
691,063
276,425
414,637

OS+==x XNS0tsde =234l 21,600

10,800
4,320
6,480

OXY0tsdE SAA HAHEEX =& 88,400

44,200

44,200

OX<GotsdlH ERS3F I 77,760

38,880

15,552

23,328
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N
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=
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= M W

= W

= M

Z W

OXdotsdy 2208 29 &
600,000& = 20 = 123 14,400

OXSotsHH MAS 0ts el A K& 15,000

402 2I2tXt=01 & 29,000 0 29,000

ES 29,000 0 29,000

2
SHH JIsEZAE X

1,000,000& * 2900 & 29,000

or

QRE50IE 122 HHES 86,286 83,089 3.197
34,515
20,708
31,063

= W

307 21201 & 86,286 83,089 3,197
34,515
20,708
31,063

= N W

10 AlRISXI 2 X 86,286 83,089 3,197
OSSdHeEIHs 24l X 86,286

= 34,515
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X ZH
S =

el

& ots
P ots=ENsd
OlS=XAIE K&

SA - BB B () - MM - BES Ol &t o San HmEET
< 20,708
Al 31,063
HA=XESH 6,238,553 4,432,914 1,805,639
= 426,823
J| 1,371,713
& 234,049
< 732,438
Al 3,473,530
2208 X & 1,232,717 1,169, 140 63,577
= 328,701
J| 379,722
< 170,138
Al 354,156
ChENEXNJHEH 22 449,440 459,840 A 10,400
J| 307,888
< 43,984
Al 97,568
307 glz2tol & 449,440 459,840 A 10,400
Il 307,888
S 43,984
Al 97,568
10 AtSI =X 2 X 449,440 439,840 9,600
OUISIEXNHAEH Lz 9,600
OUZaIEXNJEH 2SXE 439,840
J| 307,888
< 43,984
Al 87,968
Ct2st EXE MY 189,220 184,647 4,573
J| 71,834
< 38,861
Al 78,525
201 LB-2d| 44,400 42,218 2,182
< 12,600
Al 31,800
01 At 22l 42,000 42,218 A218
OWEZE0I8 X FAHB 2A=E X 42,000
< 12,600
Al 29,400
02 2324l 2,400 0 2,400
Od=2 Ut Al 23 3l 2,400
202 O4dl 1,400 0 1,400
01 =S LHYI 1,400 0 1,400
OA=QX& FR=A 04l 1,400
301 L2 LS 2,800 2,800 0
10 #ALAHIE A3 2,800 2,800 0
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X{ XH -
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VR
VEEEPES

& A20HE K& )
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o e 2
OZE0IYUXZSH(HOILL) DNEEAX
70,00 * 40H 2,800
307 glz2+ol & 140,620 139,629 991
Jl 71,834
= 26,261
Al 42,525
10 A3l =X 2 = 140,620 139,629 991
OISt 2Z AN S ALY 10,000
< 5,000
Al 5,000
OGMZE0I2X CHREIIE XA HH
= 10,000
< 3,000
Al 7,000
od4gzs0l2x Za HEH 5,000
< 1,500
Al 3,500
OUZs ISR HE SALA =& 13,000
< 6,500
Al 6,500
OZE0I2X S¢HA HHlA 26,235
J| 18,365
< 2,623
Al 5,247
OUI&IE AH AHLER A 60,108
9] 42,075
< 6,011
Al 12,022
OUIsI=E G A 16,277
J| 11,394
< 1,627
Al 3,256
MEISXAE X 63,666 52,500 11,166
= 26,772
Al 36,894
201 ¢4l 5,560 0 5,560
01 At 2t 2l 5,560 0 5,560
OMIIEXAE(HE, OtS)dHEHH == 5,560
307 21201 A 58,106 52,500 5,606
< 26,772
Al 31,334
10 AFRISXIEX 58,106 52,500 5,606
OAt2lSXIAIE =X EH 44| 1,250
< 625
Al 625
OAZIEXIAE =X 28 ZEHI 1,250
< 625
Al 625
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= W

345,031
241,521
31,067
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286,793
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29,454
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185,360
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= W

185,360
87,180
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185,360

10 Al SXI2X

OALINNEXNELE AE 24|

= Hn

= M

185,360

174,360
87,180
26,154
61,026
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3,300
7,700

185,360

H
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47,923
219,631
74,795
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Il
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SH: E0IS D
Y e=XET
|

Sl oL B CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OGE=Z=0lY 222 HN

1,000& * 1,50004 1,500

301 LBtE A= 1,920 2,400 A 480
| 960
Al 960

10 #ALAHIZ &3 1,920 2,400 A 480
OdZH 2 SALA W=l 1,920
J| 960
Al 960

307 Qiz2tol & 188,775 144,952 43,823
| 123,876
< 28,148
Al 36,751

01 =L =4l 4,654 572 4,082
ONEZZuoixt 2= XA 4,654
| 3,257
< 1,397

10 At3I =X 2 X 184,121 144,380 39,741
ONEZE 4G A 2| 25,000
-ots JI3EY dEA 25,000
= 7,500
Al 17,500
OWEESANE SAX o2& 3,650
< 1,825
Al 1,825
ONEEZZUiX ESAE 2| 126,943
| 97,649
< 14,647
Al 14,647
OJNE =Y LA ESAIE ML 10,000
J| 10,000
ONEEZZUdk Xzgz=2 220 18,528
| 12,970
< 2,779
Al 2,779

402 QIR0 A 28,499 6.000 22,499
9] 14,249
< 7,125
Al 7,125

01 222 E X 28,499 6,000 22,499
O =Tk BESAE JIsEZAY 28,499
J| 14,249
< 7,125
Al 7,125

g5 2X ¥ Ol Xt K& 157,492 156,003 1,489
| 73,546
< 38,022
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SH: E0IS D
Y e=XET
e R P

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 45,924
307 21201 A 157,492 152,923 4,569
J| 73,546
< 38,022
Al 45,924
01 922724l 5,000 1,429 3,571
Od=Z4noi &t 2z2dl XA 5,000
J| 3,500
< 1,500
10 AtEI =S X2 X 152,492 151,494 998
Od=g4dga 29 66,446
J| 33,223
< 16,611
Al 16,612
OJE=E"4EA 29| 66,446
Jl| 33,223
< 16,611
Al 16,612
Oo0ts - H&8ES Xl 2¢ 14,600
J| 3,600
< 1,800
Al 9,200
OHHIH HAE=ZHZE AL 5,000
< 1,500
Al 3,500
I, d=25 ol € I= 6,170 2,600 3,570
201 249 6,170 2,600 3,570
01 At 22l 6,170 2,600 3,570
OdslSHe wi &2t 5,000& = 200& 1,000
OHBIZ - HOH0H YRS ALY
400,000& * 43| 1,600
Od8z MTu=sH 3,570
IIEEY HdZdIIois =L THE L XA 10,000 22,500 212,500
J| 7,000
< 1,500
Al 1,500
307 21201 A 10,000 17,000 A7,000
J| 7,000
< 1,500
Al 1,500
10 AFRISXIE X 10,000 17,000 A7,000
ONE=EY Jtolil Xt ¥ = 10,000
J| 7,000
< 1,500
Al 1,500
Ol - olgEsXAeY B s 17,386 0 17,386
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2MH: oi&ot

ol GE=XSE
|

=

Sl GERY S (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2

= 7,923
Al 9,463

201 et A | 1,540 0 1,540

01 AFR2t2l Yl 1,540 0 1,540

OOtsH-gol A AaHAIA 3o HA&H

70,0008 * 11 = 23 1,540

307 QI2t01 & 15,846 0 15,846
= 7,923
Al 7,923

10 MaISXEX 15,846 0 15,846
O0tsSH4E Xl 29 #4535 15,846
-ot& X HE 15,846,000 15,846
= 7,923
Al 7,923

0 Ols 3AYE HoHDNF 40,000 0 40,000
= 40,000

404 SIS H2HE2 40,000 0 40,000
= 40,000

02 BAt- SHASEE= 40,000 0 40,000
O&MotE HAY HoHUWF 40,000
= 40,000

He&dEz & HXAA 1,321,600 246,090 1,075,510
& 2,200
Al 1,319,400

A K& 125,000 125,000 0

301 AP B A 3,000 3,000 0

10 HALAHI B AZS 3,000 3,000 0
Odad SH,JI2 2532 EAHLG BE43 3,000

307 QI2t0| ™ 122,000 122,000 0

04 Q2tSHALE = 90,000 90,000 0
OAtEe 2&LIs A 90,000

10 MaISXEX 32,000 32,000 0
OAd=EXga T2 29| 21,000
Oo=elissd 29H N& 1,000
Oz 2494 XN 4,000
OZcHw 3 2d9dl X< 6,000

e =x=2t 29 18,600 19,600 A 1,000
[ 2,200
Al 16,400

301 et A= 2,100 2,100 0

10 AL HI B A2 2,100 2,100 0
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2A: d40ts
B o4 =XSE
SRl OAFM Y HHAY CERED
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O&= 6&dUz AKX B4
100,0008 * 129 1,200
OZEE (diag &KX B4
30,000 = 30 900
307 gizto| A 16,500 17,500 A 1,000
= 2,200
Al 14,300
10 SIS XEX 16,500 17,500 A 1,000
OdUs &4 11,000
O A2t AFSHI 5,500
= 2,200
Al 3,300
A &35 37,940 53,540 A 15,600
201 Bt 8,700 9,400 A 700
01 AF2 22| H| 8,700 9,400 AT700
OWEAE ALY 20,000 * 50 1,000
OEFENL SSHT HE
10,000& * 2008 2,000
OWEEXNSZ2A 2ZAHIH M &
150,000 = 100K 1,500
OEAHMUNARKS| 3|9 & A £
70,000 * 15 «x 43| 4,200
202 044 4,500 5,200 AT700
01 2Ll 4,500 5,200 A 700
OWAE=EX E2F& Yl 4,500
203 ¥ 2 =&H| 12,000 12,000 0
03 Al 2 =& 2 = X H| 12,000 12,000 0
OGEZY S8 YR 12,000
301 et A= 3,500 3,500 0
10 HAFAHI B a2 3,500 3,500 0
O - S a3 MHOWH(LS) AL
sa=2 70,000& = 10¥ * 53| 3,500
307 2iz2to| & 9,240 23,440 A 14,200
02 QI2tAH AP X 9,240 9,240 0
OUBNOI AL HE FR2S AUR
770,000& * 1A ~ 12€ 9,240
HAERSGEZA = 45,160 47,950 N2,790
201 gBt2A | 30,160 32,950 N2,790
01 A2t 2| bl 30,160 29,350 810
OMdgEdstm®) MELA N 4,000
ONNE=Z /38 5,000
O ERSFE Al EHXF QLA 3,000

_35_




SA - BB B () - MM - BES Ol &t o San HmEET
O0EasEAl 28 8aAM 2o 4 = 8,400
- & Hzae 20,000& = 80Y « 13l 1,600
-39 20,000 = 10Y¥ « 23] 400
- 23l 20,000& = 809YH =« 43| 6,400
O04 - JIs&SIIY AESHIH M=
300,000& * 100H A& 3,000
O0H - JIB&SINY 8F dA=+E
70,0003 = 7H « 43| 1,960
Oy - JIx23IY 483 88 u=E
1,200,000& * 404 A 4,800
203 YR =&l 5,000 5,000 0
03 A F=XH R =AY 5,000 5,000 0
OB ZA =4 g2 F=XH| 5,000
307 glz2+ol & 10,000 10,000 0
10 A3l S X2 = 10,000 10,000 0
OXNYEs HEH=2AY E&l 10,000
- JtHE HioIHel &g et 10,000
HAME A= 1,094,900 0 1,094,900
401 Al HIZ 201 Y] 194,900 0 194,900
01 A& HI 103,900 0 103,900
OAQI S HI & (M8 2hE) 2,700
OAtIE - X 6,200
- XNF2HHUHUE WA 550,000 » 4012 2,200
— YRS EHHAH L
1,500,000 = 14 1,500
-2 sEu 2,500,000& * 14 2,500
OZHIAAIE AEHWE HE S 5,000
OExa3e &X 30,000
Oag ClH 2 SAt 50,000
OUERZ *F & U S SAHHI 10,000
03 Al 2 0HHI 91,000 0 91,000
=34 HAHIE 10,000
ORQRHFANERHNEES 72,000
O=QI=EXH 201 & 6,000
OsJldl & 3,000
402 RIZ2FXt20l ™ 900,000 0 900,000
02 QI 2HCH & A S HI 900,000 0 900,000
OWAdE SAtZeltl 500,000
OC&EHH JIsE22 At 400,000
BHEDIE X 2,704,494 2,681,729 22,765
= 50,199
J| 772,360
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24,000
24,000

10,000
14,000
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307 glz2tol &
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283,920

224,049
59,871

273,000

10,920

10 Al S X2 X
OZXNES AL 2el

H0
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= [l

283,920
283,920

224,049
59,871

273,000

10,920

x
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ro
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= M
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,052,100

327,030
725,070

994,000
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= M
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,052,100

327,030
725,070
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an
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Al
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= M

H

Al
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,052,100

802,000
252,000
550,000
105,000
31,500
73,500
10,000
3,000
7,000
5,500
1,650
3,850
129,600
38,880
90,720

994,000

58,100

Jl

H

Al

965,450
772,360

57,927
135,163

1,001,473

N 36,023

954,650

990,673

N 36,023
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S odots

=]

S od=EAsd
e bl E R )
= - — L=
SA B ER(EN) - AR - BES of & o4 San HIDZ2
Jl 763,720
= 57,279
Al 133,651
01 AtRI B & A = 954,650 A35,023
OstR2IH= &= Hl 870,000
Il 696,000
S 52,200
Al 121,800
O 2It=E nssd s S 79,850
Jl 63,880
S 4,791
Al 11,179
OsRZ2IIE FII0ts 2 =H| 4,800
Il 3,840
S 288
Al 672
307 glztol & 10,800 0
Il 8,640
< 648
Al 1,512
10 Al S X2 X 10,800 0
OBRZ2IE AEUAT HAHI 10,800
Jl 8,640
S 648
Al 1,512
FL0t= w=|Hl X 182,260 95,404
= 54,678
Al 127,582
301 2ELE A= 182,260 95,404
= 54,678
Al 127,582
01 A2 2 & A == 182,260 95,404
Ose 2= DEH| 182,260
< 54,678
Al 127,582
48 BE2 HEYX 52,124 A57,736
= 41,699
< 3,128
Al 7,297
301 LEE A Z 52,124 A57,736
= 41,699
£ 3,128
Al 7,297
01 A2l 28X =7 52,124 A5T,736
Oots &=l 42,000
= 33,600
= 2,520
Al 5,880
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ORX & o (150% 013tH)

= H W = N W

= N H

1,200
960
72
168
7,700
6,160
462
1,078
1,204
979
74
171

ro

SXNAE XA

= HnH

17,000
8,500
4,250
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62,900

A 45,900

307 glztol &

= HmnH
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A 250
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17,250

A 250

= M

127,640

38,292
89,348

129,640

2,000

in

Al

127,640

38,292
89,348

129,640

2,000

2l X

200,000& » 6& = 10

onls2i=s

S5 S0 IHAAY

80,000& = 12& = 9Y¥

Oblel! XH M&=2 X

s
1,000,000& = 359H

H

Al

= N

= N

H

Al

127,640 129,640

35,000

10,500
24,500

12,000

3,600
8,400

8,640
2,592
6,048
72,000

21,600
50,400

A2,000

0x

x
o
H0
02

528,000 0

528,000
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RSN S}
HECESE-PNE=F
D OEdH 29

SN HH-S(BN) - MBAY - B il HlnE2
ASELUE2E 45,000 0 45,000
207 A& H| 45,000 0 45,000
02 & A I 45,000 0 45,000

OG&HEH EHOIX #=HI 45,000

HEE nEsd =4 483,000 0 483,000
401 Al B2 28I 66,000 0 66,000
01 A& HI 66,000 0 66,000

SEALAE X 6,000,000& * 110024 66,000
405 THobH S| 417,000 0 417,000
01 AL =2 S FH S| 417,000 0 417,000
O4dH 22U HE =237 417,000
-#EEH P (Y, =-I S) 27,000
—HUHME 2L (HE, TV, I0: S) 20,000
-HIE LML AN MEE S) 150,000
- HuHEa (e, 55,9587 S) 80,000
—stAQe|A(RE dX,ASD] S) 50,000
-~I20I84(HE,AEH, &2 S) 15,000
—BrelAEtw A (AT AL MY D, deteld S
) 20,000
—CIXrer & (0lA, Chelol, =2gu S) 45,000
- JtHHZIOH(AHTI O A, HED S) 10,000
2gZdl(ddorst) 598,472 545,336 53,136
| 23,084
= 9,000
Al 566,388
A29H 459,952 416,404 43,548
| 23,084
< 9,000
Al 427,868

ol 2| 305,902 272,768 33,134
101 14l 305,902 272,768 33,134
02 JIEt R 2 305,902 272,768 33,134

O3 SAHHE HNE SFe=a4E Al 35,577
-=20 2,528,500& 198 » 123 30,342
-d2=¢ 30,342,000& * 0.8/12& 2,023
-tE=E 80,000& = 1&¥ = 123 960
—AN2e 2R

9,383 * 20AI2t » 1 = 128 2,252

ONESAHHE HNE 8F724E 1A 64,440
-=20 2,283,200& » 298 128 54,797
-d2=¢ 54,796,800¥ * 0.8/12& 3,654
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AN 6dotsn
M HY2IZH(HL0tsD)
chel: ol gyl CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
-JtE=d 80,000& = 2¥% = 123 1,920
S EEEEES
8,476& * 20A12t » 2FH + 128 4,069
OXNESAHEH @ 2824 1Al 58,036
-= 2,049,300& » 28 » 128 49,184
-&32=+¥ 49,183,200 * 0.8/12& 3,279
-IE=4 80,000 = 2H = 12& 1,920
—NZe 2L
7,609% * 20AI2F » 29 123 3,653
ONMAZAME H@ €53
8,000,000& * 29 16,000
OFAEIsd el 29,653
-=0 1,356,774& » 128 16,282
-Jlz=g 1,356,774% * 43| * 1/2 2,714
- Z U gAY 110,000& * 128 1,320
- usExY| 100,000& * 122 1,200
- Y EFOHl 1,356, 774% * 23] = 1/2 1,357
— JHAN X &Yl 1,356,774% * 53| * 1/2 3,392
— GOt &HH| 45,000 = 15 675
—ANZ2tIZ Y 6,303 * 20AI2+ « 128 1,513
-JIEg 40,000 * 123 480
-&dl2sse 60,000& = 12& 720
OFAEISICE KT A Q1A (S nESE0e) 24,088
-=0 1,668,600& * 1% » 123 20,024
—Al2tel =g 7,753& * 20Al2t = 12& 1,861
—-4EE= 1,668,600& » 11% = 12& 2,203
ONREAEAGEH 453 2] 58,108
-=0 1,340,000& » 28 128 32,160
-Jl2=g 1,340,000 * 43 » 24 * 1/2 5,360
- Z UGS AH 110,000& » 2 » 12&8 2,640
- Ws2Zl 100,000& * 29 » 123 2,400
- g &S0t
1,340,000 » 29 * 23] = 1/2 2,680
- JtAI X3l
1,340,000 » 29 * 53] = 1/2 6,700
— HOtE 4| 45,0003 = 2% = 10 900
—AZte 24
6,225% * 2 * 20A12t « 128 2,988
-&dll2ssg 55,000& = 2% » 123 1,320
-JIE=g 80,000& = 123 960
OFAGANEESAR EAS 20,000
ol 2IYY(HLAHAESIIHEH) 154,050 143,636 10,414
J| 23,084
= 9,000




2N
X ZH -
L= B

el

= _ — d =
SA - B (SH) - MRAY - BYS e 2
Al 121,966
101 1A 154,050 143,636 10,414
J| 23,084
= 9,000
Al 121,966
02 JIEt 154,050 143,636 10,414
OdEX orA 89,750
= 9,000
Al 80,750
oS erA 64,300
J| 23,084
Al 41,216
2l 138,520 128,932 9,588
=2l 138,520 128,932 9,588
201 gt 53,920 52,252 1,668
01 A2 53,920 52,252 1,668
Ol 8,100
OO0F 26,950
OJlE 8,100
OZ gyl 4,500
O=E A 4,270
37 2,000
202 o4 Hl 79,200 71,280 7,920
01 = LH 4 HI 79,200 71,280 7,920
Ol 220,000& = 30¥ » 122 79,200
203 &2 4,200 4,200 0
04 £ M 4,200 4,200 0
o= * 123 4,200
204 X2 1,200 1,200 0
01 = 1,200 1,200 0
OF * 128 1,200
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